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Note :
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(i) Answers must be written either in English or in Marathi.

(it) Question No. 1is compulsory. Of the remaining questions, attempt any four
selecting one question from each Section.

Y¥ HHTF 1 ATHaTH 378, 3N T F1idet IR GisdT 99 Jed IR o 59
fragT wiefaur sawr 3.

(tii) Figures to the RIGHT indicate marks of the respective question.
I TeRETeT A Galerd JeI= 0T Sl faar.

(iv) Use of log table, non-programmable calculator is permitted, though any other
Table/Code/ Reference book are not permitted.
AN 29 q8T FI9-SIHReeT TIHIT 19T §0hd ATe], 991 SR 2ad/Fle/Fefifq
GETRT=AT ATRIAT AT ATE].

(v) Make suiiable assumption, wherever be necessary and state the same clearly.

~fore wyravae aime fag-fod aivent Teid w7, 9 @87 T eard #.

(vt) Number of optional questions upto the prescribed number in the order in which

they have been solved will only be assessed. Excess answers will not be assessed.

w7 1A e gedvda gt seaaear gistad! e, daaid JvTaEd qurEd! g,
STfafterT 3R TYTAT STTUIR 787,
(vit) Credit will be given for orderly, concise and effective writing.
, Jf&red § TRUTAERe foamong 49 fae sge.

(vitr) Qandzdate should not write roll number, any name (including their own),
signature, address or any indication of their identity anywhere inside the answer

book otherwise he/she will be penalised.
TG TRiah=aT AT YITIT FHIde! IHINH 3% FHIF, T: [Fa7 3909 714, 7 fhar
AT e UM faeg 748 F& 74 39T at/dt Rredq a7 3.

(ix) For each slab of 10 and 15 marks, the examinee is expected to write answers in
125 and 175 words respectively.
SedFT 10 0T 15 707 Sracten Seret 3w GREmeTerg Sigeh 125 ST 175 Sraaredt
3T9HaTT 37T

(x) In case of any ambiguity, English version will be considered as authentzc

HIVTATE YRR Gaer=a1 &, s’aﬁ?mwmmma@méa

P.T.O.
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1. Answer any four of the following :

WA Yohl hIvTaTE) TR T ST AT

(a)

(b)

©

(d)

(©)

Discuss Accounting as financial information system in the context 6f the basic
objective of accounting is to provide information which is useful for persons
inside the organisation and for persons or group outside the organisation.

AGHAE (Accounting) JEd Ietee Arfed! qufawt &t St gueTarta et iy
wmwﬁmmwww%wwé@ﬁﬁ?ﬂam%ﬁmw%w
<h{.

What is Value Added Tax (VAT) ? When and how tax is to be deducted at
source ws 192 of Income Tax Act 1961 (consider assessment 2010-11) ?

FeAaftid o FEUIS! Y ? TR HrIET 1961 AR FAH 192 3= TGAR Froel AT
YT L HYTd hedl Sl ¢ (39 2010-11 R Freicor a¢ fommra wma).

"If you are in need of money, look to your inventory first" what is the
significance of this statement for finance manager ?

S reTe AT TS S8 R e gHen @181 (Inventory) 98T fad i syaemashaTat
7 foamr w1 98 R 7

What are measures suggested by Reserve Bank of India in regulating Indian
Money Market ?

umugn;m@rwr%ﬁammmﬁgéﬁm 3T 3TEAT RIVTR VT ST ST e
?

As per Companies Act 1956, under what circumstances can the auditor of a
company be appointed ?

(a) By an ordinary resolution (b) By a special resolution.
T HEET 1956 JHR (1) I 30E (Ordinary resolution) 3for (&) fasry
SUATER, ScheTehTe AU It FHeft S 7

SECTION - A
faamT - ot

2. Answer the following sub-questions:

Qrefied IYTTATE] S AT ¢

(a)

Prathamesh Ltd. issued 20,000 shares of Rs. 100 each at a premium of Rs. 10
per share. The share amount was payable as follows :

On application Rs. 20, on allotment Rs. 40 (including premium)

On 1%t call Rs. 25 and on final call Rs. 25.

10

10

10

10

10



(b)

©
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Applications were received for 15,000 shares and all these applications were
allotted shares. The directors made all the calls on shares. The first call money
was not received on 1,000 shares and the final call money on 500 shares.
After the final call, the directors forfeited the shares on which the first call
was not paid. Of the forfeited shares, 500 shares were re-issued as fully paid
at Rs. 70 per share.

Pass necessary journal entries in the books of Prathamesh Ltd.

Wl &, 3 W@l 100 €. 2 10 F. IR (Premium) 20,000 9T fafia weee
ST W= R GTefidl ST 33 377R.

WA JySIEEd 20 F., S FreqEEd 40 %, (IRmearEa)

oH qET gr 25 %, 3nfor 31faw Aroft g 25 %.

SR 15,000 HFTETS! 37! ITe $iTet 3707 STSTTSHIO) AT d1ey Sl . SaTeeh T HiTaiiel
Td qrmft g arreft Sheft. wer qrTefl gt 1,000 wrTEl F Afaw Aol g
500 T Terd firaTet AITe. FemerarTt <] Torm Aot g wehd foclt et <
AT ST AN S ST shed. STl sheledT WRTTAShT 500 9T Tl 70 T, T
qoigs (Fully paid) qaSsht uara areft. Jemsr &t = Usifordines sTrawess T et .

How are the profits or losses computed and treated in respect of incomplete
contract ?

YUt AT STe T T fehaT et A= TOMAT FIt heAt T qeiI! ST 7

Why is it necessary to reconcile the profit as shown by the Cost Accounts and
Financial Accounts ? Summarise the various causes for such differences.

ufegg oan iftr foeffa dwn e affociean TR gue grevaT=t &1 TS AR 7 A
T fafay o= W i

3. Answer the following sub-questions :

QAT U IW 91

(a)

(b)

What is Amalgamation in the nature of Merger, purchase consideration and
capital reduction ? Explain the various provisions of capital reduction as given
in the Companies Act 1956.

foref i toar=ar (Merger) Ta®UTd THFUT (Amalgamation), W& Hiaedl
(Purchase consideration) 3Tf0T Wrga@ %urd (Capital reduction) WUl &4 ?
THED FET 1956 HEfla Wisad HuTdiame fiaiean aqal T .

What do you understand by normal and abnormal waste of material during
the process ? State briefly how each should be treated in Cost Accounts ?

i SO AT G I S 39T RS 1 ¢ eIy 9 § Al
IYSIY Y <ot STTdTd o ArETd g

o
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15

15
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What is marginal costing ? How is marginal costing useful in decision-making
ofa firm ?

e e vt s/ 7 waTen wed=an fole wiwe fm e war swe o ?

SECTION-B
v -9

4. Answer the following sub-questions :

Wl ST S =

(a)

(b)

©

Explain briefly the exemptions available u/s 10 of Income Tax Act 1961 in
respect of Gratuity and Pension.

AT FTIET 1961 =1 HAF 10 352 HaSIH (Gratuity) 3 Fawft 3a7 (Pension)
7 T SERT G ASHTT T H.

Define and explain the concept 'Auditing'. How does Auditing is differ from
Investigation ?

ITHETU Feho T4 SATSAT I TS il IHREU Faqumien 8 iy am 7

What are the stages in auditing in computerised environment ? Explain the
various computer assisted auditing techniques.

VTR GUITEA! STATRONG STh&ivTTd Shiv T HTRd ! Hh&uIell Hared & fafay

5. Answer the following sub-questions :

QA STTTATH I =1

(a)

(b)

©

Define and explain person and assessment as per Income Tax Act 1961.
ST FTIET 1961 374 et (Person) 10T SFHETT (Assessment ) AT SATEAT
I TR HA

What is internal check ? Explain the points to be considered while framing a
system of internal check.

3Fale auTAvl TEUSt I 7 i quTEnl UEETeT TRt v T, saTadre 3TEdrd o
T

Outline the special points to be taken for the audit of the charitable institution
and college having three faculties viz Arts, Commerce and Science.

tfers g€ ( Charitable Institution ) 0T e, iU 3 foqm s swvm et

T -
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SECTION - C R
fvm - =
6. Answer the following sub-questions :
(@) Discuss the scope of Financial management in the context of decision making
in the management. 10

HFEITIATA T TRt STgae ford e SHaeuTaHT= = ==t &4,

(b) What are the capital budgeting decision taken by company in allocating
financial resources for new investment proposals ? ' 10

T TerEvpe SeaarErd! o ST fonamroft SarT ot v Sivr sEaseR ot B ?

(¢ () BluePaints Ltd. desires to purchase of equity shares of Black Company
which had paid a dividend of Rs. 5% share last year. The dividends are
expected to grow at 6% forever. The required rate of return on the shares
of this company in the capital market is 12%.

What will be maximum price for equity share of Black Company ? If Blue
Paints Ltd. to hold the equity shares for 3 years and 6 years. Can any
change in maximum price ? 5

& Ued &ft. wrfte aff 5% e foden g o scieh ShuHe T GiE FE
fosd. W SudiE AT o e 6% ared Il 3NN R, wiedd SSd o1
FHO =T HRTT ST Gdredr=T &t 12% 3R

SEIh YT TH NITETE! ST ST Tehelt Gt o7eie ¢ SR oo Yed o). T WeT 3 9
T 6 IR UCATHS 39 350 SR T AT T GeITd TGl BIg Yehel i 7

(1) AXEL Ltd. issues irredeemable preference shares of the face value of
Rs. 100 each. Flotation cost are estimated at 5% of the expected sale price.

What is the cost of preference capital, if preference shares are issued at
(a) par value (b) 10% premium (c) 5% discount ? 5

e . T TAF 100 %, < Yours WA 3T THUR STEdhTe A fash
Fred 3TTed. Aufda fashY wear=an o 5% @t ufe™ (Flotation cost) 3113

SR (1) @9 9 (Par value) (&) 10% SRHeI™ (Premium) (F) 5% 2
(Discount) 357 TIgah R fosh! sheft o TR WS YN 1Y 38d ¢

(d) What is EBIT-EPS analysis ? State an indifference point in the EBIT-EPS
analysis. 10

SeterEet-3dtuy Fcﬁéw TRUS T ¢ 3eereel-duiun favatvurdia wq?ﬁ T2

(Indifference point) &
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7. Answer the following sub-questions :
Treftel ST S =
(@)

e Gueadid fad ™ SaaeTaehr=an il ==l .

(b)

and BOL machine are available, each costing Rs. 2,50,000.

In comparing profitability of machine, a discounted rate of 10% is to be

considered.

Expected profit after tax and before depreciation are as follows :

Discuss the functions of financial manager in large organisation. .

Marks

Sheetal Ltd. is considering purchase of two companies machine LOD machine

Year 1 2 3 4 5
LOD Machine Profit (Rs.) | 80,000 | 1,00,000| 1,25,000| 75,000 | 1,00,000
BOL Machine Profit (Rs.) | 30,000 75,000 | 1,00,000 | 1,50,000 | 1,00,000
The net present value of Re. 1 @ 10% discounting factor is as follows :

Year 1 2 3 4 5
Present value factor | 0.909| 0.826 0.751 0.683 0.621

Calculate pay back period, net present value and pay back profitability and
indicate which machine would be more profitable.

firae T, & o9 @il = femd oTR. 39 Su=rE 93 weaie 9 9 sEee 9

T F. 2,50,000 I7 formete Iuctsy

3Ted.

e fhmeiter 10% &t S8 96T IIT=AT T%T SHA qaHT B, TER F U

TR ST Wit TH 3R,
L ' 1 2 3 4 5
TASISt 99 & (%.) | 80,000| 1,00,000| 1,25,000| 75,000 1,00,000
stenue 99 %1 (8.) | 30,000 75,000 1,00,000| 1,50,000| 1,00,000
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Frear= ferdiie 10% =t fFus ges w1 sl feae gw g @l o o1, o

qw 1 2 3 4 5

weErges fohed | 0909 | 0.826 0.751 0.683 0.621

ATt Featt (Pay back period), freaet @@ fhwa (Net present value ), 761 &8
T TS SiATaE Il TUMT & VA I BRI R d 3@,

(¢ (1) How would you measure the cost of capital in making investment
decision ? 5

T Foia ST Tigaar=aT AT W e ST ¢

(1) What are the critical assumptions used by Walter model for determining

dividend policy ? 5
AT T SfeoaTendY afeet wienmret (Walter model ) SvrhIvidt Sehredsh
T e 7 |

(d) Define financial planning and discuss its various aspects. 10

forfte faiemm=h s = sfor = fafay et ==t .

SECTION -D
R -
. Answer the following sub-questions :

Trefter IUSETE I T

(a) What are the different sources of raising short-term finance to Business
Organisation ? 10
A FEeA Fed gedtear fog Iwmeftandt o fafye g st

(b) Discuss the functions of Industrial Development Bank of India. 10
AT SN TehTa seheat shrai= <= <.

(¢0 Explain the role of SEBI in protecting the interest of investors. 10

(d) Write explanatory note on Credit Rating Information Services of India Ltd.
(CRISIL). 10

el ga A wifedt S maida (shiEe) ot aotrers du fomn.
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s 9. | Answer the following sub-questions : R
Gl ITTEATH I ;0
(a) "Capital market creates distress in the minds of investors" in this context
explain the problems faced by investors. J 10

AT T4 .

(b) What is the role of Indian capital market in accessing companies in Capital

Market ? 10
FIAH! HIET TG AT TEUF WRART HISqS SIS 1 {HhT 318 7

(¢) Evaluate the objectives and functions of International Monetary Fund. 10
(d) Explain the various services performed by Merchant Banking. 10






